R e T
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a=3i+4] qR b=2i+2]+k @& TG @t F?

A. cos']\ﬁ B. cos'1/2
) cos"'lﬁﬂ D. None
4[ab &Y A
It @=cos” | 22 |= cos!
['abJ 325x9
9=cos™ [EJ
15
Ans : D.

L*/2I represents of a particle.
A. Rotational kinetic B. Potential energy

C. Torque D. Power
2 INT
L—_L-m—--}-lm i Eofrotatxon
21 2.3 B
Ans: A,

P e e e S e e
TSR WORR AR weeR IWs zoem (MRY)/2)
O ST BT WA R hATEE AT

TS SN IS?
A. 1.5 MR? B. 0.75 MR?
C. 0.5 MR? D. None

o @R Sfen Ew wieAyeny HAER
AT BIIe TGO W, I-tg+Mr2

="M1’2+W

owmmmmmmwm
= lMl-z

4
Ans : A,
os 27°C sy com NS RN 951 €A T e
RIS 1S F | T SIefTia 67

—Mrz

0. 25Mr2

A. 45°C B. 46°C

C. 45.84°C D. 45.64°C
i B Y B

T, N300 V

T, =600 K=327°C
Ans : 7|
o¢. TR A ¢ ARSI YT TGIS| = (1t FO7

A.0° B. 90°

C. 140° D. 8°

T[N : » B0 AR @ Afaw= Ao TGI8 = @ 8° |
o 315 ¢ Rum armm =pf @ 1392
Ans : D.

ov, iz ow o3 e pve B, s @ V, e wom e =1
v .
B <

O

A. Left
C. Out of the page
T : F=2(VxB)
oW gfe § fFawipie pee aee e cerem e w9 399
A2 s |
Ans: C.
0q. CITA GETT T GIM R AW A" CHO! @G
a3fs i Swem ot o3 4 BreAw w By TR
™ 75 x 107" N 301wt ARyRg o | 3w a8
B 6 x 107 N/m =¥, @ @firs 7o fown ouda
sfafy F%2
A 125x107m

B. Right
D. Inward the page

B.0.50 x 10* m

C.65%10%m D.125% 107 m
i
T = ?5"% 125% 107 m
T 6x10”
A“S:D. :

ok, PR WEew od% 6 x 10° N/m’ | U™ wres 10%

FACS T F A SR o et s s T3

A. 300 N/m’ B. 400 N/m*

C. 1000 N/m” D. 600 N/m’
gt : B : AP = 6 x 10° x 10% = 600 N/m”
Ans : D.

o3, Y, K &3t 1) IRIEH LU G 04118, WHSH 041§ G [ooR

% | I 7 = IK T o3-

AY=325K B.Y=35K

C.Y=45K D.X¥=18K
Tt Y =3K(1-26)=2n(2+0)

=3K(1-20)=2n(l+o)=1-20=2+2c
|
P § 3
45 Y=3K(l-20)=>Y=45K
Ans : C.
so. &b wfes SIH @ Y SRS W7 FIC -
A. Perpendicular B. Parallel
C. Diagonal D. None
T : @ GF ANE TAH @A TG TAFS T8 N0
fors ST |

o 43 WG SAA @A W FAES W IR T
FATHL |

Ans : B,

5. FIRITER 9T -
A.F=1/Zy B.F=Zjy
C.F=1/maZs D. F=mu/Za

1
T : F = — = FIAET 67F |
Zy

Ans : A.




33, @36 0.30 m TFT R 41e7 cieres 1C o1 e Scg | | 5. 3 PR 4oy *RIER TPIE 12 em T, 1.2 ofee
@0E (TIPS oo T For Tyare RFE Thgm 93 ey wer
A. ON/C B. 25 N/C A.C=16x10"F B.C=6x10"*F
C. 100 N/C D. 250 N/C C.C=16x10°F D.C=0.6x10°F

Gt : AP TS (ST R T 4 | Tt : C = dneKr
Ans: A, ;
do. e e 1.80 | e IR FrO™ Rrew = 110911-2X0.12=1.6x10'uF

of werede efesrra 1 e wer A =
A. 56 B. 47 C. 34 D. 22 EG{!WWW&WW-V

T+ 0= sin™ (L) = sin ()= 34°. A. 0.7 B. 0.4 C.05 D. 0.3

: B 180 Tt : RS V = 0,67 = 0.7
Ans : C'ﬂm Ans: A,

38, ;:ﬁ;l ex TS 1.644 G 1.664, Rz wwe & mwmeWMMomwwm.

CreT @R O I-
A.0.0306 B.0.306 C.0.1306 D. None A-Neithtismes B. Black holes
ot w= e Hr o : C. White-dwrafts D. Supemnova
Bl . Sl e TN : o TEFE B A 9T O T W I W U@
p= BBy o esa R Coars % (White dwarf star)
2 e o =7 3 R (T3 ¢ M SR W04 T o3 G B |
0.654 Ans: C.

- w=10.0306 "SR e MY MY WEARRIE MITER AT G
LAns : A, : ZT A -a% qofa B R I oy it tofi vt @
se. Ry e By qfds w0 715 0.5 o fisge Fo o B -

o G 4800A T, e 7= @y 1 mm T, A. Resistance Thermometer
forex R wer B. Thermocouple
A . 40.17m B. 1041.7m C. Thermistor
C.24.17m D. 14.17m D. Thermoresistor
o 2% 0.5%107 . Ans:C. |

O B e - AL T R G O -4 T F97
Ans s B A. 133 B. 1.4 C.2.44 D. 1.66
S, TRTE BT YR TR IR NS Iwr- IN ;. GF e, femmde, e, e oy Tm

A. Positive B. Negative UGN 1.66, 1.4 @ 1.33
C. Zero D. Infinity Ans: B. ’

N : A B G4 QAT A QTS IS ANGT | 8. WA % RAAR oS Y WA RN SR
Ans : B. : AR
39, WO QA B 6.6 x 107 kg @@ TP 3.4 x 10° m T, A proportional . B. equal

o U SR C. inversely proportional D. None
A. 3.1 kms B. 5.1 ks [Ans : A. |
C. 7.1 kms™ D. None €. NEWONDER Mewb v & WrhI X7
A.50&304.1K B. 50 & 254 K
T s v, = |2gR ~ gxﬁng=J_ZG_M=5'lm-t . C.73&2494K D. 13 & 304.1 K
R R AT : SIHTETTA NI 517 '@ TIoMTAl I 49,8 atm @R

Ans : B. 1546 K
Sor. ST 3 (oI TSR g vt Ans : Blank.

A. Increases B. Decreases Q. IO RS T FRCGW IN AN AR e qI® I
C. Remain unchanged = D. None &1 fiee Tent B

YT : oA I A TS RO FIT ©olE I | A. opposite shore B. somewhat upstream
® 291009 312 o6E = 20 C. somewhat downstream D. None
* THET Wwed E = 17 T : oIS Fre wew ShHe | TSR ARTW G A |
o TUMEA PO ¢F = 8.4 B
Ans : B. Ans : A.




R4, o @ s e 3@

Ay=f(x+w) B. y = yn sinK (x + vt)
__ C.y=vy,log (x —vt) D.y=f(x’—vt)
E= Y= Ym SinK (x + vt), «f5 Sttt warerm wleme |

Ans : B. )
L o7 RFE <3 el owe B aweeim wwt w4t e
R O g fRedt o g agwRn AW @ | qre wRby
e B sifiret 3% AR oty
A. Resistance double B. Resistance half
C. Unchanged D. None

L2 el

A A A

=2R

440W wer 3 W an 550 | @ e
R 7 ot F© ez szet Ty

A 4A B. VA C.12A D.3A

P _ [440
IMH:[= | —= —— =]= ./8A Jit B
S e

Ans : B, ]
Yo, (@ GBIV ¥ 1C 5% R AR FE 1 m/s @t
o T 1N 1 weew 30 oie T
A. Tesla B. Dosla
C. Flux D. Hall effect
wzqcﬁw-m_ICchmmlm Im/s
caw sifeder zEn 1N %1 S 3, o | Tesla 9 |
% ITesla= INATId ™ % 7 0 et
Ans : A. : ' _
©). WiRwRfy 150 o www W 60 W oI, 75
T aR 60 o o ¢ fiRad Tox cweTeR S|
Four el o weat RS o wde EbTed
“i T
A.7 B. 75 C. 30 D. 120
TNt 0 (A UB)=n(A)+n(B)-n(A N B)
=60+75-60=75
. CPbTS AR 8 150 — 75 =75
Ans : B.
O aX’ + byx + ¢, = 0 @R a, + b:x + ¢; = 0 feere
FiieareE gt 2 e 2enm weE $;

A-El_zal B_—-—:——
by b, a, b,

a_b_¢

-

(1o D. a;a; = bib, = ¢c,

a; b, ¢,
I : a;x”+ byx + ¢ = 0 9G8R ax + box + ca =0
R (i) G2 M4 371
(@b —biay) (byes —bae) = (aic; — ac,)?

(ii) o et ot e, D1 _
' 4 by ¢

Anms : C.

SR SO R | e

00, G 1 WiTTeTTs RMre 4 v 97w ¢ 3 ww TR

T WITE | WY oRFE I wy WRe Aty 2 sy R
FouTE B3R 2w

A6 B.3 C.9 D. 12
W:@mm=‘c:+3'c:=9
Ans : C.
©8. If "Cy; ="Cg, then 2C, = ?

A. 23] B. 321 Cis D. 132

Jt: "Cp="Cg=>n=12+8=20
- PGy =FCy =231

Ans : A, ‘
©¢. 2, 3,4, 5,6, 7, ¢ 8 unely e ares Tgw
IR T TR I B WOH TS o IR o1
TAr

A. 28 B. 780 C. 840 D. 480

Tt - e e = Py = 840

Ans: C.

ob. 4+ 3i wlbw b TgmE © wdes R

A. (5. tan™' EJ B. (5, tan™ i]
4 3
4-3

C. (5. tan TJ D. None

T = TGP = V42 +3 =5‘.;-W= tan“%

©q. |2x 5| <3 Sy s @@ = |

A l<x<4 B.3<x<5
Clsx<2 D. None
TT: 2x 5[ <3=>-3<2x—5<3=52<2x<8
s l<x<4 S 5
Ans: A,
b, ]fS={a,b,l:,d}andR={f,h,d,g},thenﬁndS!R.
A. {a,c} B. {f, g}
C. {b, d} D. {¢}
T[MOt: S={a, b, c,d} «RR={f b,d, g}
S/R={a,b,c,d}/{f b,d g} = {a c}
Ans: A,
o3, (-1, 4) Refba s @ vedire z=-
A. lst B. 2nd
C. 3rd D. 4th

Ans : B. _I
h A(1, 1), B9, 7) ¥ C(-5, -3), P(x, y) R=m kil ]
T T, P R e 3
A.(3,5) B.(-5,3)
C.(3,-5) D. (5,3)

T[N : AB = 82 +82 = /128
Option A &7 7% V8% +8° = /128

Ans : A.
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83, 1M A @Rl «ffwe 270° ¢ 360°-9% Ty AEw AF
a3 cosA = 0.5 T, O™ tanA = ?

8. (sin30cos — cos30sin0)/(sinfsin36) = ? dx == 1
A. cosec20 B. sec20 : j(l _2x)? m'__2'+c T20-2%) 7
. co‘sccﬂ : D. Se.cB Al
: sin30cos 0 — cos 30sin =sm(39—9} ga W g + £ — ¢ = 0 &, O TPIE 1T W R CFA
sin Bsin 30 sin Osin 30 7af O (o T T | 9 JE B @ W
__ sin26 A. Point circle B. Imagination circle
sin Osin 30 C. Line circle D. None
Ans : 7g, M : @ JUA TG = OIS & 98 (point circle) 70 |

Ans : A,
8b. X° +y — 6x + dy + 3 = 0 &R IG1 IS G337

A 3 A L I U ] IR § A L A. 14 B.2J10 C.2/55 D.4l10
c b T : X Ay —6x+4y+3=0
i Bk T J_‘;‘ 22 =X +yY+2(3)x+22y+3=0
tanA = —+/3 [+ 270° <A <360°] g=-30 LB
Ans : B. g g = gl +£2 —c=(-3) +27 -3 =410
R SV = 2x410
k50 gl Ans:B.
A.2 B.é C. 1= D ”42 85, CTST T, f(x) = X* A —2 < x < 10, £ (t—2) =2
- 2h h A.0<t<12 B.1<t<12
2T lml cosh = lim s = lim smz = _ C.0<t<10 D. None
b0 h% w0 h2 w0 R4 faetit-2=-251=0
2 t-2=10=>t=12
RS o Yy 0Lt 12 !
o E% 9 Ans: A.
Ans : C. i SRR I 2 + 3i T, et R e
d . it ¥ A X -4x+13=0 B.x’-x+3=0
7% IR} o C. 5% #1320 D. None
A.2 B. x C. 1/x D. 1 TG : @B 37 2 + 3i 7, wowf 2 - 30
T d _ 2+3im2~3i?1ﬁﬁﬁ'=rﬁw,
O Ry S X - (2+3i+2-3) x+ @ +3) 2~ 3) =0
Ans : D. :>x— 4x+13= 0 Fites
" Ans:A.
Eﬂbzdx:? @>. wﬂw«ﬁﬁwmmnm«mmw
Vi=9x S S SRR ST AR | IS WPt 30
] 2 1 2 o 0, AT SNOITE IOt & A0S TA?
A ==Q+9x)° B AN A.S B. 50 C.25 D. 30
" [T : (N TR AW n A, n !> 30
« 1. oma ¥ n = 47 41 <30
. —E(I—Jx) D. None B n=5 M5! > 30
w:[(1~9x; -"dx=~{_—).—+c @y, G FASE n YT @ S, IW I 2O e
P TR N T, G I e TR 1 T, T I
1 FOUTHT (FATI A7
- *—5(1—9:&)% +C A. (1/2)n(n - 1) B.n(n- 1)
& C.(1/2)(n-1) D. (l!2)n(n+1}
_ I [N : R e = "C, = -—n( =)
8% ~=? 1( zj
= I(i—Zx}‘ e
Ans : A,
A. 1/(1 +2x) B. 1/2 (1 - 2x)
€. 11 =2x) D. None
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@0, SIS 4w 1 ¢ 81-9% Ty v f=fs Tomne | vo. M ZEBD =35°T™, ZCBE="?
A.3,9,27 B. 9,27, 49 C
C. 27,49, 59 D.2,4,6 E
2 23 24 a58
M= 1,3,3%, 3,3 = 1,3,9,27,81 < \ ?
Ans: A. . A 33 30 A Y
¢8. I ¥4 : tan 3A + tan A = 0 g il
A. A=nmn/4 B. A =mn/2 'C 1850 D 100°
CAS zod DA B AN+ 180° — (50° + 35°) = 95°
TN : tan 4A = tan (3A + A) = ANSAFtENA Ans : B.
1-tan3Atan A
il
4
Ans: A,
li 1 C?Se:? ‘ : " . " :
M b B =@ da=3i-4j @ b=-2i-3k @wWwew, c=axb
A. 8 B. 18 .
C.20 D.3 R <o s g
e . A. -12i+9j-8k B. 12i+9j+8k
et - liml c:sﬁ=sm9=oos92i ; .j ) i
050 @ 205 B2 ¥ C. 12i+9j-8k D. 12i-9j-8k
Ans : 7%, ety o TGRSR
w2 1 J k
[Vi+sin26d0 =7 TNl axb=| 3 -4, 0
s e D0 (23
A.2 B. 3 G D. 1/2 SO Ay s e Tx
3 ; R =i(12) - j(-9) +k(-8)=12i+9j-8k
-2- ?/ : Al 8 g ':Alliic- - ‘ é e -. 4 ¥ '
et - j'J1+sm29de=_r(sma+ma)da T T ———~
A E _ M S T |
= [-cos 6 +sin BB;- =1+1=2 A. constant; decelerating B. variable; decelerating
Ans : A. ; - C. constant; accelerating D. variable; accelerating
&) B e Wom 12 km GOI SIS N | WBW 6 km @OV Tt ;e I sAfere, <3 2@ ffFR (constant) JrER
RS b TR o S I R 2o @ Five war o | | offf i e e @9 5w gat (accelerating) 3% 7R |
A.120°  B.90° C. 130° D. 150° oo, 2% FeEE A qR B «Iux e wm & oA
6 © 5 P toft =) et A-co <fRRST wew Wi A%
Tt : cos o= —L = cos 00 = —— = = 120°
e e Q el 7 My I T | AW T B-F F1% 512 Hz @,
AR O IR A-GF FE FO?
A. 261 Hz B. 256 Hz
Fr. 5:'1;]:?4'“ ""’WWE: o C. 216 Hz D. 517 Hz
e r 8 W : 7 AGIE 1B BT, TGS TS MG |
A1 - (a—2b)' @@ e W = °C. . (2b) = 160" Mi et
skl S 08. ¥ TR Y 4 £ TR B ARG o TS
@. 1,5, 14, 30 ..... 3 %R o FAD? et 4 et M08 ST0S *1R, BT Mfefa e
A. 40 B. 48 LSS D. 60 A. Vi=V B. V5=Vf2
MG : 5T o7 =1 C.v,=2v D. None
@M=22+1=5 n’ v+v v+0
i 0 5
M =32+5=14 sl SORRT s et e
6€om=4"+ 14=30 =2v-2¥ -v-#:v v/2 ;
St - 5 . S £
s.gf'ﬁ 5+30=155 Ans : B




AITT ISP SIER (I TR OB WCHNS[A NS
TR ANATE 51367 WO SN I6?

A. MR?/2 B. SMR%*/4
C. 4MR%/5 D. 3MR?/4
TN : o “re FEEE sl Fw fiw oyba e
Mr? .

MWWWWMT

o S AR SRR AT AR FLAT TGO S — Mrz
o e mﬁ bfeR -gta WISVSI SR w‘fm

Ans A.

[ 2 rad/sec’ % Gt ST @ <09 87 2000N-m
o 5 STt T SHETR HNE IS LA?
A. 1200 kgm’ B. 900 kgm®
C. 1000 kgm’ D. None

I : 1=l :

2000 i ko

T~

Ans: C.
0q. % it & =1-
A. longitudinal B. transverse progressive
C. stationary wave D. None
It : @ wwx (stationary wnve}ﬂﬁmﬁﬁ%
Wwﬂmﬁmﬁﬂm LTS
ARSSE, 20\l :
obr. aﬁmwmmm Bﬁqwﬁa&mE@ E!fb
1 391 +q € —q 9% 79 R B v Rge-cwa F e
A. 2E (right) B.0
C. 2E(left) D. E/2 (left)
;F:_@: !
+qq-—-——-|—-—-+
mmmmmmm Wmn
R RS @ e U | IS W SR Sfe
= S T |
Ans: A.
ob. WIS M 30°mmq-1tcwc¢ 50 ms™' @t @
I gt Tt | Bl 50 m R @I o 3w
TSR HES FAA?

A.1133m B.2233m
£ 61 33m D. None
2
gx
w =(tan 6p) x—
~ . 2(vgcosBy)’
; 2
= (tan 30°) % 50~—onX 0 ___ 9o 33:m
2(50xcos30°)*
= effar o A% T2
A.Q=0 B. PV = constant

C. PV' = constant D.T=0

+2012-2013 (370)

o TGS T, T = 0 (Wesde =& g srmme 35 om)
Ans : B.

800 kgmmm:mmmqmmmﬁm
T ot weirg 0.5 T8 3 Mo i @t 7

A. 14m/s B. Tm/s
C.8m/s D. 12 m/s
2
[T : tanb = p= —

g

2
<05 ="¥—_~> v=+05x40%9.8 =14m/s

Ans : A,
h r TANER JERE e @3 Cuive MR R @t v
W @3 @ IR T a m/s” W R A @ TS

A. \((vzfr)z +a2 B. \/(vg /1)? —a?
C.(vV/r’- D. (V* it} +a’

»ﬂw \Ramﬁwrm (maﬁwm)‘

s ' -J(vzfr)z-v-a

Ans: A,
So. WId @ R =THE S 67
A. 10" B. 10" C.10" D. 10°
[T : W @ o T W 10
AL
38, SR G SR T (R T e e B AR
A. More charge B. Less charge
C. Zero D. None
Emmﬁ#aﬁﬁﬁﬁ%aﬁam M |
Ans : A, i

se¢. A Al @ 45° Ori G-ONE (IR SERE .
Borw Sotreet-
A. Unequal
C.Intheratiol: 3

JY1: tand=—

tan45° = %

H
~V=H
Ans : B.

B. Equal
D. In theratio ]l : 2

111 (A IR 1!

et I HAPrS G S
¢ o SfF *[@rw (Reem, TWRs, IR )
+ e IR Rfawrem




. VIR S TG TS
A. Proportional to the per unit volume number of molecules
B. Inversely proportional to the diameter of the molecule
C. Inversely proportional to the density of gas

D. None is correct

54, (PN x-ray <% (WG~
A. The wavelength is higher
B. The intensity is higher
C. The frequency is higher

D. None is correct

A, Path difference = nA  B. Path difference =nA\/2
C. ZL D. None

ao.wmqﬁﬁm ew q-ﬂt nl,
i Tem woifba crram o, Wl (AT 3w g 3
A (n+1)fn

= f

B E, = 1/2MV?
D. Power workfume

N < 1000 kg 57 B @R @O 10 m/s <1 6 m

Twom v v (it e =% 7 war
A. 108800 J B. 100101 J
C. 96000 J

D. 108600 1

1 mW2kg'ﬂﬁ5m“ BT
& oo AR FEPR-

A. 109 HP B. 25 HP

D. Violet

sb. T <o 7o e wwo A y = 3cosm (100~ ¥)
TR C.G.S "ars s 7 o3-
A.lm cm C.cm

D. None

mmamwmmmmm«m
@@=

A. Becomes double
C. Remain unchan,

B. Becomes four time
D. Becomes half

. R A 20°C S A enbH-

B. 73.5 Nm™'
D.7.35x 107 Nm™

A. 731 dyne/cm
C. 73.5 dyne/cm
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B EORFWASB, 4 m AT WA-®2QsW
B-c% Q e 51 4™ A ¢ B @7 Boim agfee qow

©8. 60 km g 93 9% RIAD @7 FY /120 @
Beoy w3 | wla Tt i =

IS FE? A. 11 km B. 10 km
A4:1l B.2:1 o191 D.1:2 C. 13 km D. 12 km
200 Tn
[t - K""—'\* A -0 X =60xtan—
e i 120 Sl
F2=K3%9;Bmw )
4 .
e 3 0<9~<3ﬁo°m A 3 tan’0 + secO + 1 =10
et A.6=180° B. 8 =120°
®o. WL w «IB WPy WA oM TR - ufe C.6=170° D. 8 = 160°
ST = YN : tan’6 + secH + 1 =0 => sec’® + secd=0
A. UV light B. Sodium light = sec®+ 1 =0[" secO 0]
C. Candle light D. Infrared light =>secB=-1=0=180°
Yt mﬁmmmmmﬂih&mdm Ans : A.
wf® FeraweE | R iz N0 Gy = | | ov. sin135°-@ WH F?
Ans : D, el g .
A. 1/42 B. 1
o AeEs mﬁ# 'nvn 'mJ @ ﬁﬁm @ T V2 W
200, 500, 100 Bt @2 700, 300, 250 Brt T, DA 7 D. 1/v3
hboc ) TGt sin (1 x 90° +45°) = cos 45° = ——
200 500 100 5 [2000 300 500 i 2
700 300 250 "1 700 250 250 Anps : A.
{200 500 100} |i700 500 200} 29, sin(n—1)xcos (n+ 1)x+cos (n—1)xsin (n+ 1)x
: D. -3 TF ¥9?
300 250 300 300 100 250 A Sidnx s
|Ans:A. : 1 C. sin2x D. 2sin2nx
R, TR R | 2x +4[<6 Tt sin(n— 1) x cos (n+ x+ cos (n— 1 sin (o + 1)x
A -5<x<1 BBk <] =sin {(n— x+ (n+ 1)x} = sinZnx
C.-5<x<5 D.0<x<5 Ans : A
T : |2x+4|<6 = -6<2x +4<6 el A2 5
' =-10<2x<2=>-5<x<1 xe x* +5x+6
Ans : A. : A.0 B.1
3 c.2 D. 3
S 27
00 o (1, x)" R Y "'“”'ﬁ g 2“3 =0 [ TR A W | 99 TR
) Eoo x“45%+6
A. 1% term B. 3% term EIII'W2]
C. 4" term D. 5* term Ans : A.
3td term = 7'C [i} = 03159 ¥ i
100 1 1
3 3 A. | X B. X
4th term = 7'C, [—) = 0.0789 +2‘°’ A
100 C. D.
3 1+e* 2+e*
5th term = 'C, [—) =0.014 &
100 I : y=In——=Ine* ~ In(1 + &) =x —In(1 +¢")
e, @Ry x < | Ry e fglere e arem e 158
T FRAFA FAA | 2> O%-a Sl 'ex=l+e"-—e“= 1
-, JREW M T 1st term Cdx 14 1+e*  1+¢"
Ans A. Ans : A.




_ C d
y = tan ‘d— X wm, Y =

+COos X dx
A. 172 B. 1/3
Tty = tan~! CosX _ ‘Zsm x/2
+cOSX 2cos x/2
=tan” tan > =2
2t

. ﬂ_f‘_[i}_l
dx dx\2) 2

A,

: 3x-1,x>3
8y, f(x)= @ f(2) =
2x+3,x<3

A.5 B.7 C.8
I x=2 @35 flx)=2x+3 .
fi2)=22+3=7

D. 9

Ans : B.
83 /2 & wrR T

A. 7w B. S
T : ST T (B BT :
o S A et AT Mo W e w4 T
o189t : 5.1327...., m, e ZTeIfR

C. chifers D. w@mse

: 2012-2013 (373)

84, A = {2, 4) T O, A-« & 7b-

A {0, {2}, {4}, {2,4}} B. {{2,4}.{2,4}}
C. {4, 16} D. {2, 4, 16}
| Ans : A. |

8y. W I R ciwR g (3, 90°) =W, o IER
TS fde T vor
A (x,y)=(0,3) B.(x,y)=(3,0)
C.(x,y)=(0, V3) D. (x,y)=(+/3,0)

T = X = reosd = 3cos90° =0

y =rsinf = 35in90° = 3

Ans : A.
= fagrem cvawn @@ w0 I MfRmerr (1, -2),
(3,3)8(-3,2)

A. 12 sq. unit B. 14 sq. unit
C. 6 sg. unit D. ﬁwq‘ unit
e
ey 3 2 =
1
=3 B+6+6+6+9-2)=
Ans : B.

¢o. 4R, M ==m®, d =79 ¥7g ¢ F = 99, 931 3 a7
T (I T4 -

C. Proper subset D. Complement
[Ans:C. ]

A.M=F/d B.M =dFF
o T (HIGS RANF TP I, g, veda Ten C. M =—F/d D. M=F xd
9 I A T JE.JE,%E,%E,WM%' | Ans : D.
‘II;;B.Z a; a; b
89 X = 6x — 1+k (2x + 1) = 0 5isaiw w2
T T, O k- T B 7@ = e bz DRpSoT
A.50r2  Bi=50r2 ‘C.50f<2 D.-50r2 amss
WL x"—6x— 1+ k2x+1)=0 75 8 )
SxX+(2k-6)x+k-1)=0 ‘ -
T oo g i, T - 7 T R O P
y g Ans : B.
88. 72 (¥fér oo R ol Rt A @@ 17 M, Bag3®m, | e 1-cos (x—y)=?
Cﬂ45ﬁwmlﬁm3wm? I X—y . 3 K—
A. 9 ot B. 12 &f% A. 2cos T B. 2sin 5
C. 17 =& D. 41 =f& s X—Y 2 XY
T 17X+ 3x+4x =72 = x=3 € 2emee Bt
L B=3x=3x3=9
Ans : A. TN : 1 - cos (2ﬂ]=1—1+2sin’1‘:—y
8¢. U={1,2,3,4,5,7,9,11} @R A={1,2,4,7), ST A' = 2
A. {1,7} B. {3,5,9, 11} I Ry
C. {2, 4} ?123457011; L s FBE
WA' U-A= {12,345?911}41247} Ans: B.
=10, 0 11T @®. sin 0 = cos O TF 0 97 T T
Ans : B, A, 0° B. 45°
8y, C={l,3._ 5}«{[):{5, 6,3,9, l}{'ﬂmcm C. 30° D. 90°
) N e S 1
A. Superset B. Subset [T 5111&15‘:'*00545"‘‘\/;_Z

Anmns : B,




il RN S

e8. f(x)=2"%m, #(x +3) - f(x—l)—"

A. 15f(x - 1) 'B. I—Sf{x) :
15
C.—f(x+ln D.A&B
AT i{x) 2%
fix + 3) - flx—1) = 2% — !
71’l 1 15 15
o g 8——J= =2 = —f(x
Tk [ 2 2 2 )
Ans : B.
d Coszx—sin}'xl_‘}
e dx{ c053x+sin:xl .
A. sin2x B. 2sin2x
C. 2co0s2x - D. cos2x
d | cos’x-sin’x| d
RO — - — — b =—o~(—cos 2x) = -
dx{ cOS‘X-Fsinix} " 2xJ==2ﬁﬂ2X
Ans : B.

X9 W (7 (I I YT T, —(3x — p)’ @@ TN
TR 32

A.9 B. 4
C.1 D.0

T« JTE R T %{-{3x—p)2}=0
:>-2(3x—p)x3=0=:»—6(3x*p)=0=>x=%

- ORI =— (3 l;-—p)’=0

ﬁns D

a-43 TH ¥ g, y = ax (1 — x) IvEE T R
=l x ST MY 45° (o Beog T

A. 05 B.0.5

.1 D. -1

jfscoq 0)? d&-g

Amn
C.6n

B. 8n
D. -6n

2012-2013 (374)

] 0
B 208 - 2
o f(3cos9) do=2x9 I(cose) o

nf2 /2

= 24icoszﬁdx=12i(l+c0529)d9

nl2 w2

Idﬂ-ﬂ— sm29] m,z}

ni2

Ans: D,

X% AT (3% — 5)° 7 P W e 79 )
A. 162 B. 152
C. 160 D. 151

TG : y=(3x - 5y :
vi=3(3x-5%3=9(3x-5)
¥ =9.2(3x - 5).3=54(3x = 5)
Vs =543 =162

Ans: A,

11 (T TLHCE, 11!

TS AT HRES GITA P

* iR (7em 2eh)
¢ B} Grem 2860)

¢ X e 2060)
¢ 7R oo 2wh0)

I :y=ax(l - x) > y=ax— ax::v:i*a 2ax -

(0. 0) o, = tands® = a - 22.0 = tand5®

B.0
D.3

1

2
4 4

I = =[2xl(2x+1)”2J =9-1=2
o V2x+1 2

c

111 ([ =LA 11!
sy g Wi v RRvee
35 fofee RS s o eefon v
+ AFFE Written (A Unit)

+ AFFIE Written (B + D Unit)
¢ ANEE Written (C Unit)

11! &Y 111

SRR RRWERE-a7 e
I RS G TS
¢ @M - A & H Unit ¢ & - D Unit
¢ 79[S - B, F, I Unit ¢ 9= - C, C1 Unit
+ 73R4 - E Unit ¢ i8R - G Unit




